

(1) $\frac{\sqrt{\Delta}}{|a|} = \frac{n^2 - (a+1)n + a}{|a|} \Rightarrow \frac{n^2 - (a+1)n + a}{|a|} = \frac{\sqrt{a^2 + 2a - 4a + 1}}{|a|} = \frac{\sqrt{(a-1)^2}}{|a|} = \frac{|a-1|}{|a|} = 1 \Rightarrow |a-1| = |a| \Rightarrow \begin{cases} a=1 \\ a=-1 \end{cases}$

(2) $n^2 - (a+1)n + b = 0 \Rightarrow n^2 - 1n + b = 0 \Rightarrow \frac{\sqrt{4 - 4b}}{2} = 1 \Rightarrow 4 - 4b = 4 \Rightarrow b = 0$

$\Rightarrow P = \frac{c}{a} = 1 \Rightarrow \Delta P = |a - 1| = 0$

$a^2 + b^2 = (a+b)^2 - 2ab = S^2 - 2P \xrightarrow{S=-1} = -1 - 2P$

$P = -(m^2 + 1) \Rightarrow -\infty < P \leq -1 \Rightarrow +\infty > -P \geq 1 \Rightarrow +\infty > -2P \geq 2 \Rightarrow +\infty > -1 - 2P \geq 1$

$\alpha^2 + \beta^2 = S^2 - 2P = (-1)^2 - 2(-1) = 1 + 2 = 3$

(1) $\frac{\beta}{\gamma} = \frac{-a}{\gamma} \Rightarrow \frac{\beta}{\gamma} = -\frac{a}{\gamma} \Rightarrow \beta = -a$

(2) $a^2 + b^2 = a \Rightarrow S^2 - 2P = a \Rightarrow 4 - 2P = a \Rightarrow P = \frac{4-a}{2}$

(3) $y = K(n-a)(n-b) = K(n^2 - (a+b)n + ab) = K(n^2 + 2n - \frac{1}{2})$

(4) $\begin{cases} x = \frac{-b}{2a} = -1 \\ y = 1 \end{cases} \Rightarrow 1 = K(1 - 2 - \frac{1}{2}) \Rightarrow K = -\frac{2}{3} \Rightarrow y = -\frac{2}{3}n^2 - \frac{4}{3}n + \frac{1}{3}$

$\frac{1}{3}$ عرض از مبدأ

$n^2 - (3a+1)n + b = 0 \xrightarrow{a=3} n^2 - 10n + b = 0$ ادامه ۸

$S = \alpha + \alpha + 2 = 10 \Rightarrow \alpha = 4$

$P = 4(4) = 16$

$اصلاف = 24 - 3 = 21$

ریشه $\alpha + 2$ و α
 دو عدد زوج متوالی